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Instructions to Pupils: :

1. Do not open this booklet until you are told w do so.

2. Follow ali instructions carefuily.

3. This paper consists of 3 parts, Sections A, & nd C.

4. For guestions 1 to 20 in Section /A, shace the correct cwals on tha Ophcs

Answer Sheet (OAS). .
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Sm;:tion A 4D marks) _
For gach queas “‘zov 4 opfions are m"vmv Une of them is the comect answar. Make
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The smaliast oiid nimbey that can be formed rom the digds 7, 8, 4 and &

B tens more than 2 “’}4 is the same as _
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What is e remainger when 827 s divided by 77
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The heign of e dassroomr oo 18 about
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Container & has a capacty of 981 mi,
Cottainer B has a capucityof 1/ 82 mf

How mieh mors water can container B hold than container A2
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Subtract 425 fom 2 100.
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10.

Playground

find the sum ¢f the two numbers.

(1) 19 (2)
(3) 1194 {4)

The difference between two rumbers is 475, 1 the smaller numba is 244,

Jilt has 72 stamps. She has 8 times as many stamps as Ben. How many

stamps does Ben have ?
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How much nizarer is the playa ound thain the schiool to Amy's house 7
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(1) ©55m () 1 km 308 m
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wa @ fty-rant coins. She warnis to buv a sharpehar witich cosis
36.20. Haw many more fifty-cent coing coes she riead ? :
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The mass of a papava is three limas (e nass of gn srange. I the mizss of
the papava e 758 g, hnd the mass of ithe two fruits,

() B804 g 2y 1ke8g
(3 FhaE2 g (4) 2k 2884
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Alired went o ne shcpping centre =t {125 am, He came home 1 h 45 min

igtar. AL what tr d Alfred reach hys homa?




The total perimeter of the square and the rectangle s &4 cm What s the

length of each side of the square 7 !
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The picture graph below shows tha aumber of Gurty puils sod by M Muino

from Monday w Friday.
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Ori wnich day/s did Mr Muthu sell less ihen 35 cunry putts

(1Y - Manday only {2y Maonday & Toesday
(3) Tuesday & Wednasday {4y Monday & Thursday

How many angles insida e ficure balow are e,
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8. Gavinand Bee had equat number of stickers, Gaviniost 36 of his atickers,
Ther Tys hae <4 imes as many stickers ag Gavin. How many stickers o~
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19, The furs helow {s made up of six identical sc;uaref What fraction of the
ngure is shaded 7

The diagram belnw shows a scala belance Whet st be the mass o

for the scabe to be balanced ?
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Section B {40 marks)

Quostions 21 to 40 cany 2 marks each. For each

p

the spaca provided. Give vour answers in the units stated.

u\jqrr& VC\"‘ answes ."]I

21, Whatls the value of 4 in 64087
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22. Find tha sum of 24 hundraeds, 4 tens and 14 onexs,
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24, Arange these frzctions in descending ovoer.
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258, Find the sum 2 B2 and 178

26. Findihz cup
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27. Uss el the digits 4, 2 and 310 form the smaliest three-digil even numbder

that @ Giviclpie by & What is the guostient?
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T pans geor, Hiere ware 8 pens laft

How many pens wiare thare at first?

hared a box of pens. After they had akon
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Each box could hoid up to 6 tarls,

How many boxes did Mrs Ng need?
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80, MrWong finished polighing his zar at 1.55% om.
He took 2 hour and 25 mimnutes to finish this task,

At what time did he stant polishing his var?

3t PL ter stood on his bathroom sciis.
“The reading of his mass is shown below,

“What is his ma=s?

32." A cake was cut into 10 equal pieces.
Fania and her maother ate 2 pieces each,

What fraction of the cake was
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(Leave your anawar in M simplast form)
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9. Mrs No baked 56 tarts. She had to pack all of them into b
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36. fam anumber. When { am multiniled by &, the prodaat 3 70 greater than

b 5

the sum of 29 and 17. What number am 1?2
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37. Today is Tuesday. What day was it 18 days agnt [
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3. Trie length of arectangle is ¢ em. Its bhreadth is 3 am.
Find its perimeter,
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40, Grace wanted to by a camera. She saved $1 onthe 15 day,
G on tha 2™ cay, 8 on the 3" day and 327 o1 the +7 dav.
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After B cays, Grase saved snough rmoney to oy tha camara.

How muoeh did the camera cost?
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Section C( t marks)

-

For cuestions 41 to 45, ahdw vour working clearly in the space balow sach

question and witte youy answers In the space provided. The mark for eash

O

quen STty IS “ e T R Draskets,

pur &

Mark hag 19 stamps, Jdameas has 288 mors stamps than Mark, Alvin has
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fower stamps han Jgmes. How many stames do dames antd Aivir: have

altogeths
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42, Naney ard her brother had 10 altogetiher. After giving he:r brothar 32,
Nancy had the same amourt of roney as her brother, How mich money

did Nancy have at first?
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43, The biaagih of 2 rectangle is 4 cm. its lungth is 4 tmes fis breadth,
Q) What s the pmiimeter of the rectangle?

0y Whalis e arexs of the rectangie?
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The sum of two numbess is 35. The secord numb

numbar. Find the product

>
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Vthe “wo numbers.

Answer:
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he ~otal lenoth of & wooden sticks is ecual 1o the tolal fength of & fron rode,
Sach ron wod {3 45cm long. What is the differsnce hetwaen the length of 4

ick znd the fengih of an irenyoa”
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END OF PAPER

HAVE VOU CRECKED YOLUR WORK?
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